282 — 112

25 x17-17%x 12

O 12 @ 9



=
—

o Eo1d <A= vt

4x*> +20x + 0O

@ 25 ® 30 @ 35 ® 40

D 20



x? - (2 —6y+9) & IEalotHA?

@ (x-y=-5)(x-y+2) @ (x-y+5)(x-y+2)

® (x+y-3)(x-y-3) @ (x+y+3)(x-y+3)

® (x+y-3)(x—y+3)



4. 6xy-8x-9y+12 = (ax+b)(cy+d) N a+b+c+d 9 A&
T-otH?

D1 @ 2 @0 @ -1 ® -2



@ (x-y+1(x-y-1)
@ (x-y+1(x+y-1)

@ (x+y+1)(x-y-1)

@ (x+y+1)(x+y-1)

@ (x-y-1(x+y-1)



6. 2x°-8xy? & As-ESfotH?

@O x(x+2y)(x—2y) @ 2x(x+2y)(x—2y)
® 2(x+ 2y)(x-2y) @ 2x(x+2y)(x-y)

® 2x(x+y)(x—2y)



k)

23 (P 4402 + 3% +4x) -4 B AFE AL o, A+E
]

ZFoH?
@ x*+4x @ x-2 ® (x+2)2

@ x*+4x+1 ® x®+4x+3



8. T&25x+yE AR A5t ApEafst= Aot §EEst=
A a, b ol ot a-b 2] 2?7 (Fa>b)

(5x+y)(bx+y—-3)—18
=A(A-3)-18
=A?2-3A-18=(5x+y+a)(bx+y+b)

@ 4 @ 6 ®7 @ 8 ® 9



(2a—3b+1)?2-(2a+3b-1)> =8a(Aa+Bb+C) € W, A+ B-C
= Fskoizt

Ll g:a+B-C=



10. the Ao] SHAZAL W, A4 a o S Fotelet

(x+2)(x+4)(x+5)(x+7)+a




11. xy-3y+x-3 2 JdsEalotAH(ax+b)(my+n) @ W, a+b+m+n
o] g& o7

@1 @ 2 @0 @ -1 ® -2



12, oFeFA] 16 — 4x? 4 4xy — y? = Ql2olistH?

O© 4-x+y)d-2x+y) @ 4+2x-y)d-x-y)
® 4-2x+y)(4+2x+y) @ (442x-y)(4-2x+y)

® (d+2x+y)(4-2x-y)



[e]
13. x*-10x% +99] 157} ofd A2?

D x-1 @ x+3 @ x2-1

@ x+9 ® x*-10x2+9



14.

abc+ab+ac+a+bc+b+c+1

@ (a-1)(b-1)(c+1) @ (a+1)(b-1)(c-1)
® (a+1)(b+1)(c+1) @ (a-D)(b+1)(c-1)

® (a-1)(b-1)(c-1)




15. x*+4(a+b)x+ 3a® + 6ab + 3b* = 5-E3HoHH?

® (x+a+b)(x—a-b) @ (x+a+b)(x+2a+ 2b)
® (x+a+b)(x+2a+ 3b) @ (x+a+b)(x+ 3a+ 2b)

® (x+a+b)(x+3a+3b)



16. x-y=4, xy=-1d m, (x+y)*° g 5ozt

D L
=%



17. a+b=2L W, a® + 2ab + b? - 2a - 2b 2] S F5toizt.

5 S
=%



do]7t 5em Q1 Pl WE2]F2] 2ol & xem THE

—

e

ER

@® 57x? cm? @ nx(x+5)cm?

® mx(x + 10) cm? @ nx(2x+5)cm?

® nx(2x + 10) cm?






20. (x+y+4)(x—y+4)-16x E HEZA AFElT A2

@ (x-y+4) @ (x+y-4)?
@ (x-y-2)(x+y+8) @ (x+y-4)(x-y-4)

® (—x—y+4)(x—y+4)



21. ChAl dxt =502 4 12 U] A9 QA Fog Q14 et |
Mol Q4o e

D 2x+1 @ 2x-1 ® 6x

@ 6x+1 ® 4x-2



A o, g + 2ab + b 2] F2?

® 4 @ 5 ® 6



a, b, ¢ FHAFZE 9] A ] ol W, B be+be?~ab+c*—ae = 0

23.

7o) A o] dololth)



U
e ol

T

@ x®+x-1 ® x>-2x-1

DO x-x+1

® x*-x+9

@ x>-x+3



teizt.

S

o gre 7

91T — 815

276 — 98

25.



azi 1

= = b2
26. 0l ofd F A% a b ol Hhatel 2+ 0 =

b® + (a® - b?)* & Fh& Fstefet.

>
=%

+1 9, a8+




